MONOMI | SOLUZIONI

YOU & MATHS Represent this A piece of rope is cut into two pieces: one piece is % the length of

the second piece. Represent the total length of the rope with a monomial with an integer
coefficient.

You need to find a length that acts as a unit of measurement. You can call this length x and represent the rope as
follows.

X X X X X
3x ' |

2X

Copyright © 2014 Zanichelli editore S.p.A., Bologna
Questo file & una estensione online dei corsi di matematica di Massimo Bergamini e Graziella Barozzi 1



